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Exercise 5
Wendy lived with Harry for fifteen years.  They had three children and lived to all outside observers as a married couple.  Wendy worked while Harry went to dental school, but once he started his practice, he made enough money to support Wendy and the children.  Wendy stopped working and devoted to raising the children and to volunteer work at the children’s school and with the daughters’ Girl Scout Troops.  They discussed getting married, but Harry would always denounce marriage as “a corrupt, bourgeois institution.”  Nonetheless, throughout the relationship, Harry repeatedly told Wendy that they were “in every substantive sense, a married couple and one, united economic unit.”
After they split up, Wendy sued for a settlement that would be similar to what she would be entitled to if she and Harry had wed, including half of the proceeds from Harry’s dental practice, since she had worked to pay for his tuition.  

Wendy raised the following legal theories entitling her to relief: 
· An express agreement that she and Harry would treat all property as marital property;

· Even if no express contract was formed, there was a contract implied from their conduct; and

· Harry was unjustly enriched and should have to reimburse Wendy for money she spent to support him and their family during their relationship, including back pay for childcare.

A.
How should a court treat Wendy’s claim?  Would an express or implied contract be enforceable?  Would an unjust enrichment claim be a possibility?
Now assume that after Wendy and Harry had been together for five years, the state legislature passed a Protection of Marriage Act (POMA) outlawing common law marriages.  Prior to the passage of (POMA), the state recognized as legally married couples that had co-habited for at least seven years.  

B.
Can a court recognize any of Wendy’s claims in light of POMA?  What state public policy goals does POMA further?
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